
advanced FLOW engineering

PPaarrtt  ##::  5511//5544--1100114422
Magnum FORCE TTMM IInnttaakkee  SSyysstteemmss
MMaakkee:: JEEP
MMooddeell:: Wrangler (TJ)
EEnnggiinnee:: I6 4.0L YYeeaarr::  1997 - 2005

IInnssttaallllaattiioonn  GGuuiiddee

TToooollss  RReeqquuiirreedd::
• 5/16 or 8mm nut driver
• 10mm socket wrench
• 13mm socket wrench

PPaarrttss  IInncclluuddeedd::
Air Filter 24-30018, or
21-30018 Pro Dry S  (1)
Coupler, straight (1)
Coupler, single hump (1)
5/8” Hose @ 12”L (1)
Housing, filter (1)
Tube w/vent, rotomolded black (1)
3/4” Trim Seal @ 25-1/2” (1)
Clamp mini, #008 (2)
Clamps, hump coupler #052 (2)
Clamps, straight coupler #048 (2)
Rubber  Grommet (1)
Hex bolts, M6 x 20 (2)
Nuts, M6 (2)
Wave washer, M6 (2)
Fender Washer (4)
Grommet, air temp (1)
Cap, 1/2” (1)

IInnssttrruuccttiioonnss::

1. Loosen hose clamps on both ends of air intake duct and remove duct.  2005 models have a teme (Photo
A) Unclip the five clamps holding down air box lid and remove lid and filter element.  Then, loosen three
bolts in bottom of air box (Photo B) holding the nut inside the fender well with a 10mm wrench and
remove box.  Then using a 13mm socket, remove the two bolts holding strut rod and remove rod.

2. With 10mm socket extension and ratchet, remove bolt on radiator bracket 
(Photo C).

3. Install heat shield using the supplied nuts, bolts, and washers and tighten.  Slide rubber grommet (also sup-
plied) over strut rod, then slide strut rod through panel (Photo D).  Replace bolts and tighten.  

4. Install aFe Magnum Force Intake tube using straight coupler on throttle body side of intake tube.  Then
install 3” hump hose on heat shield.  Slide intake tube into hump hose and bring tube down to meet throttle
body.  Slide straight coupler over throttle body and tighten coupler and hump hose with hose clamps (sup-
plied).  (Photo E)

5. Replace vent hose with supplied hose and clamps.  Trim to length if necessary.

6. Install the edge trim seal on the filter housing.  The trim is notched for the corner and the shorter 11” leg
installs towards the radiator bracket.

7 On 2005 models with an air temperature sensor in the factory tube, transfer the sensor to the plugged   
grommet hole. (Photo F)

Make sure all hoses & clamps are tight & all electrical connections are secure.  Your installation is now com-
plete. Start your engine and check for unusual noises.  If you have any questions in regards to this installa-
tion, please feel free to call our toll free support line. 

NNoottee::

FFiilltteerr  CClleeaanniinngg  aanndd  RRee--ooiilliinngg:: When cleaning your aFe filter, use the ““RReessttoorree  KKiitt”” aFe PPNN

9900--5500000011  (aerosol blue oil) or PPNN  9900--5500550011  (squeeze bottle blue oil). FFoorr  FFiilltteerr

RReeppllaacceemmeenntt:: PPNN  2244--3300001188  (red w/ gold media) PPrroo  DDrryy  SS P/N 21-30018 ( black w/

white media) PPrroo  DDrryy  SS cleaning: see cleaning instruction sheet 06-00074

P.O. Box 1719 Corona, CA 92878  Support: 877-512-8111 www.afefilters.com

PPhhoottoo  AA

PPhhoottoo  BB

PPhhoottoo  CC

PPhhoottoo  DD

PPhhoottoo  EE

PPhhoottoo  FF06-80013b


